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QUESTION 1

A document-style service defines a document passed to the Web service using xsd:anyType in the WSDL file that
describes the service. How should the document be typed in Java? 

A. use javax.xml.soap.Element 

B. use javax.xml.soap.Node 

C. use javax.xml.soap.SOAPHeader 

D. use javax.xml.soap.SOAPElement 

E. use javax.xml.soap.SOAPFault 

F. use javax.xml.soap.SOAPBodyElement 

Correct Answer: D 

 

QUESTION 2

Which statement is true about the mapping of a UDDI tModel in the JAXR 1.0 specification? 

A. JAXR APIs cannot be used with a UDDI registry using tModels. 

B. UDDI tModels are mapped to the JAXR ServiceBinding interface. 

C. UDDI tModels are mapped to JAXR ServiceBinding and JAXR Organization. 

D. UDDI tModels are mapped to JAXR ClassificationScheme and JAXR Concept. 

Correct Answer: D 

 

QUESTION 3

A student developer has created a new library of math functions to share with friends in a linear algebra class. The
developer is having difficulty getting people to come over to the dorm to see the new code library, so he decides to
deploy it as a Web service so that everyone can enjoy the features via the Internet. One of the functions has this WSDL
definition: 

   

 

 

Which two statements are true about this Web service? (Choose two.) 

A. This is an asynchronous receive. 

B. This is an asynchronous send. 
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C. The client must use SOAPFaultException to display any errors. 

D. It must send a SOAP fault back to the sender. 

E. It must NOT send a SOAP fault back to the sender. 

Correct Answer: BE 

 

QUESTION 4

What are two features of a WSDL 1.1 document? (Choose two.) 

A. Service defines a collection of related endpoints. 

B. Service describes the message\\'s payload using XML. 

C. Service assigns an Internet address to a specific binding. 

D. Porttype declares complex data types and elements used elsewhere. 

E. Porttype elements are used to group a set of abstract operations. 

F. Porttype defines a concrete protocol and data format specification. 

Correct Answer: AE 

 

QUESTION 5

A company has contracted a developer to create their new accounting system. The system the developer will replace
runs a monolithic web application using one web server and one database server. Technical requirements state the
developer must write the business logic in Java, deploy to the application server and push the presentation logic onto
the web servers. What are three characteristics of services in the proposed Service Oriented Architecture? (Choose
three.) 

A. Services are coarse grained. 

B. Services are finely grained. 

C. Services are loosely coupled. 

D. Services are tightly coupled. 

E. Clients must be implemented in the Java technology. 

F. Services are platform agnostic, network-addressable web APIs. 

Correct Answer: ACF 

 

QUESTION 6

Which two statements are true about Java clients that use a security token service (STS) supported by the security
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features of WSIT? (Choose two.) 

A. The client only requires a keystore. 

B. STS requires a default user name configuration. 

C. Using an STS-issued token requires a keystore and a truststore. 

D. HTTPS must be configured. 

E. An authorized client receives a token digitally signed by the STS. 

Correct Answer: CE 

 

QUESTION 7

A company uses Web services to exchange mortgage and credit data as well as digital versions of associated
documents. The data is confidential and it is common for the service and client to exchange applications, credit results,
reports and more in a request/response format. Recently, the company has become concerned about the substantial
cost of processing and message encryption with a PKI approach. What can be done to cut costs? 

A. use MTOM to optimize the messages and provide data confidentiality via XML Digital Signature 

B. because of the weak adoption of WS-SecureConversation on Java platforms, consider using Kerberos 

C. use HTTPS as it is both economical and adequate 

D. use WS-SecureConversation and MTOM to reduce the processing overhead 

Correct Answer: D 

 

QUESTION 8

A developer is reviewing requirements prior to design of a new system, based on Web services. The requirements state
the users of the company\\'s financial systems need extensible request/response messaging. Which two statements are
true? (Choose two.) 

A. HTTP is required because SOAP is not extensible without it. 

B. FTP is appealing because it supports two-way communication with SOAP. 

C. SOAP messages can be multicast with SMTP. 

D. HTTPS is supported for financial transactions, but is not recommended for large groups of users. 

E. SOAP could be combined with XML encryption and MTOM to help meet the requirements. 

Correct Answer: CE 

 

QUESTION 9
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Which three statements are true about JAXP APIs? (Choose three.) 

A. They are a part of Java SE 6. 

B. They allow Java developers to access and process XML data without having to know XML or XML processing. 

C. They do NOT support validation of XML documents against schemas. 

D. It supports the Streaming API for XML. 

E. It requires the Streaming API for XML. 

F. They provide developers with a vendor and parser-implementation independent API to process XML. 

Correct Answer: ADF 

 

QUESTION 10

Which two statements are true about JAX-WS support for data bindings? (Choose two.) 

A. Data binding is performed with only generated classes to reduce errors and hide complexity. 

B. JAXB 2.0 is preferred. 

C. Inline binding declarations with XML Schema are NOT supported for JAXB 2.0. 

D. SAAJ 1.3 is supported for data binding with SOAP. 

E. JAX-RPC data binding is recommended for cross-platform interoperability. 

Correct Answer: BD 

 

QUESTION 11

Which two statements are true about creating a Web service with JAX-WS? (Choose two.) 

A. Stateless Web services must be created with HTTP servlet endpoints. 

B. Creating the portable artifacts by hand is slow, but makes a service easier to maintain. 

C. All Java-based endpoints share a common packaging model. 

D. EJBs can serve as endpoints if hosted in a container with runtime and service support. 

E. JAX-WS supports creating services from source and compiled code without a WSDL. 

Correct Answer: DE 

 

QUESTION 12

Which two statements are true about creating a Web service with JAX-WS? (Choose two.) 
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A. Stateless Web services must be created with HTTP servlet endpoints. 

B. Creating the portable artifacts by hand is slow, but makes a service easier to maintain. 

C. All Java-based endpoints share a common packaging model. 

D. EJBs can serve as endpoints if hosted in a container with runtime and service support. 

E. JAX-WS supports creating services from source and compiled code without a WSDL. 

Correct Answer: DE 

 

QUESTION 13

A developer created a Web service client that sends requests to the company\\'s inventory service. The quality
assurance team reports a problem during testing. The client does not work in some cases and the QA team reports that
the client is sending malformed SOAP messages. The software is returned to the developer for resolution. 

What is the result? 

A. One or more class cast exceptions are returned in a SOAP message. 

B. A SOAP fault that surfaces as a HTTPException because SOAP is serializable. 

C. A SOAP fault surfaces as a SOAPFaultException. 

D. A generic exception results because Java details are not to be mingled with SOAP. 

Correct Answer: C 

 

QUESTION 14

A company is refactoring an existing website to use Web services clients. The application retrieves lists of parts and
displays them to the users in a browser window. Previously, the data was stored as files on the web server and, in order
to access the files, the user would simply click on a hyperlink. Now the data must be dynamically generated via a
service that another developer has created. They want the easiest way to refactor their website to use Web services.
Which three technologies should they use? (Choose three.) 

A. SOAP 

B. REST 

C. Javascript 

D. XML 

E. JSON 

F. Java 

Correct Answer: BCE 
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QUESTION 15

Given the Java fragment and schema: 

1.

 //-- Java code fragment 

2.

 public enum USState {MA, NH} 

3.

 //-- Schema fragment 

4.

  

5.

  

6.

  

7.

  

8.

  

9.

  

10.

 // .NET auto generated code from schema 

11.

 public enum usState { NH, MA } 

Which statement is true about .Net and WCF interoperability for this data? 

A. Based on the fragment, enumerations map well between Java and .Net. 

B. The subtle differences in the variable names make it clear these enumerations are NOT interoperable. 

C. The XML schema reveals the type on the enumeration is lost across the platforms. 

D. This exchange would be interoperable if the annotation @XmlEnum was applied to the Java method. 
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Correct Answer: A 
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